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Section A

1. The decimal representation of  will be :

A. terminating

B. Non-terminating

129

22.53

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_trsvxPlO8E7N


C. Non-terminating and repeating

D. Non-terminating and non-repreating

Answer: D

Watch Video Solution

2. For the given polynomial 

if  are its zeroes then find the value of 

A. 

B. 4

p(x) = x2 − 5x − 1,

α and β

α2β + αβ2

−5

https://dl.doubtnut.com/l/_trsvxPlO8E7N
https://dl.doubtnut.com/l/_DFLYaj9hx8r7


C. 0

D. 

Answer: A

Watch Video Solution

−7

3. What is the value of  in the given figure ? 


 

∠F

https://dl.doubtnut.com/l/_DFLYaj9hx8r7
https://dl.doubtnut.com/l/_BhSdAzurgVK8


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

60∘

80∘

40∘

70∘

https://dl.doubtnut.com/l/_BhSdAzurgVK8


4. What is the probability of getting black face

card, if following cards are removed from a well-

suffled pack of 52 cards ? 

A. 

B. 

C. 

D. 

1

49

2

49

3

49

4
49

https://dl.doubtnut.com/l/_BhSdAzurgVK8
https://dl.doubtnut.com/l/_anBefQgHAmtv


Answer: C

Watch Video Solution

5. What is the probability of not gettig a prime

number in a single throw of a die ?

A. 

B. 

C. 

D. 

Answer: A

1

2

1

3

2

3

1

4

https://dl.doubtnut.com/l/_anBefQgHAmtv
https://dl.doubtnut.com/l/_Uwk4PZ6tfDEu


View Text Solution

6. Find the number of zeroes , for the polynomial

p(x) shown in the group below : 

A. 0

B. 1

https://dl.doubtnut.com/l/_Uwk4PZ6tfDEu
https://dl.doubtnut.com/l/_hnl7CNmSXZJS


C. 2

D. 3

Answer: B

Watch Video Solution

7. If  then what is the

measure of DM (in terms of a,b,and c.) ? 

ΔAMB − ΔCMD,

https://dl.doubtnut.com/l/_hnl7CNmSXZJS
https://dl.doubtnut.com/l/_EpA8ILiDE7rg


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a2c2

b

ac

b2

ac

b

ac

c

https://dl.doubtnut.com/l/_EpA8ILiDE7rg


8. What is the smallest odd composite number ?

A. 1

B. 5

C. 9

D. 15

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_EpA8ILiDE7rg
https://dl.doubtnut.com/l/_6QzdtKBtDFPK


9. Find the value of x if tan 3 x = sin

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

45∘ cos 45∘ + sin30∘

0∘

15∘

30∘

45∘

https://dl.doubtnut.com/l/_Y1rH12b4EiCI


10. What is the fourth vertex of a parallelogram, if

its three consecutive vertices are (-2,-1), (1,0) and

(4,3)?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(0, − 2)

(2, 2)

(2, 1)

(1, 2)

https://dl.doubtnut.com/l/_iGNtyl8yKYpr
https://dl.doubtnut.com/l/_S6rlA8qILrm4


11. Rajesh and Mahesh are playing a game. In this

game, each player throws two dice and note down

the numbers on the dice. By the rules of the

game, Mahesh needs to get two numbers such

that their product is a perfect square, in order to

win the game. What is the probability that

Mahesh will win the game.

A. 

B. 

C. 

D. 

1

9

2

9

1

3

2

7

https://dl.doubtnut.com/l/_S6rlA8qILrm4


Answer: B

Watch Video Solution

12. If one of the zero of the polynomial

 is -1, then find the other zero

.

A. 7

B. 1

C. 8

D. 5

f(x) = x2 − 7x − 8

https://dl.doubtnut.com/l/_S6rlA8qILrm4
https://dl.doubtnut.com/l/_ovGRPY9Iv2QJ


Answer: C

Watch Video Solution

13. If  then 

A. 

B. 

C. 

D. 

Answer: C

tan θ + secθ = n,

sec4 θ − tan4 θ − 2secθ tan θ =

n − 1

n2

1

n2

0

https://dl.doubtnut.com/l/_ovGRPY9Iv2QJ
https://dl.doubtnut.com/l/_PWPAASn8Sckr


Watch Video Solution

14. What is the length of OAPB, in the given (Use

) 


A. 22 cm

π = 3.14

https://dl.doubtnut.com/l/_PWPAASn8Sckr
https://dl.doubtnut.com/l/_2yDYdxPeGgvi


B. 11 cm

C. 13 cm

D. 17 cm

Answer: B

Watch Video Solution

15. If 3 is a zero of polynoial  then

find the value of 'k' is :

A. 

B. 

2x2 + x + k,

−21

−5

https://dl.doubtnut.com/l/_2yDYdxPeGgvi
https://dl.doubtnut.com/l/_MChR90qqkwcC


C. 

D. 7

Answer: C

View Text Solution

1

3

16. Two alarm clock ring their alarms at regular

intervals of 50 seconds and 48 seconds. If they

first beep together at 12 noon, at what time will

they beep again ?

A. 12:20 p.m.

https://dl.doubtnut.com/l/_MChR90qqkwcC
https://dl.doubtnut.com/l/_B8i6rgNwUy1A


B. 01:05 p.m.

C. 02:20 p.m.

D. 12:35 p.m.

Answer: A

Watch Video Solution

17. Co-prime numbers is a set of numbers which

have 1 as their .........

A. only factor

B. LCM

https://dl.doubtnut.com/l/_B8i6rgNwUy1A
https://dl.doubtnut.com/l/_jdzhSiq6j7mR


C. HCF

D. both (b) and (C )

Answer: C

View Text Solution

18. Find the value of tan  by using the following

figure : 

θ,

https://dl.doubtnut.com/l/_jdzhSiq6j7mR
https://dl.doubtnut.com/l/_6TEtgTtxvGaj


A. 

B. 

C. 

D. 

Answer: A

√3

1

3

1

2

√2

https://dl.doubtnut.com/l/_6TEtgTtxvGaj


Watch Video Solution

19. What is the point on y-axis which is equidistant

from the points (2,3) and (-4,1) ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, − 1)

(0, 1)

(0, 2)

(0, − 2)

https://dl.doubtnut.com/l/_6TEtgTtxvGaj
https://dl.doubtnut.com/l/_QISYQfmysSYx


20. Suman has a piece of cloth measuring 120 cm

(length) and 96 cm (width). She wants to cut of

into smaller square cloth pieces in such a way

that there is no wastage of cloth. 

 


The number of square places that can be cut from

the given piece of cloth is :

https://dl.doubtnut.com/l/_QISYQfmysSYx
https://dl.doubtnut.com/l/_OvV6k8gsyDLE


Section B

A. 20

B. 24

C. 40

D. 48

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_OvV6k8gsyDLE


1. The sum of two number is 25. One of the

numbers exceeds the other by 9. The number are

?

A. 15,10

B. 16,9

C. 13,12

D. 17,8

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_EmnVuQzQRFXu
https://dl.doubtnut.com/l/_Umq9mJ220wBz


2. Calculate  

A. 14

B. 3

C. 15

D. 18

Answer: A

Watch Video Solution

x

y

https://dl.doubtnut.com/l/_Umq9mJ220wBz


3. If  such that 

 what is the value of 

 ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC~ΔDEF ,

∠A = 47∘ and ∠E = 83∘ ,

∠C

43∘

50∘

17∘

55∘

https://dl.doubtnut.com/l/_Umq9mJ220wBz
https://dl.doubtnut.com/l/_jHPQ2Mfa42jP


4. Find the value of  if sec A 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 − 4sin2 A

4 cos2 A − 3
= .

17

8

33

611

53

78

2

√3

17

64

https://dl.doubtnut.com/l/_jHPQ2Mfa42jP
https://dl.doubtnut.com/l/_OytS3EgS5lfj


5. Find the ratio of circumference of two circles

whose areas are in the ratio of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

16: 25.

16: 25

4: 5

5: 4

25: 16

https://dl.doubtnut.com/l/_FbPS8S1OTGQT


6. Rita, Sita, Gita and Shyam are playing a bride

game. It is four persons play and a pair of two-two

persons as a partner is made A dack of 52 playing

cards is distributed arounded the table clockwise

in such a way that each person get 13 cards. 

`

(##AGP_EDG_MAT_X_BSC_SQP_T1_06_E01_026_Q01.png"

width="80%"> 

Find the probability that the card drawn is a

queen of black colour.

A. 

B. 

5

26

1

26

https://dl.doubtnut.com/l/_DoarFbg9TSyo


C. 

D. 

Answer: B

Watch Video Solution

3

26

25

26

7. Thales theorem is given by a greek

mathematician. According to this theorem, if a

line is drawn parallel to one side of a triangle

then it divides the other two sides in the same

ratio. This theorem is also known as Basic

Proportionality Theorem. 

https://dl.doubtnut.com/l/_DoarFbg9TSyo
https://dl.doubtnut.com/l/_gSQlvKtRe32L


 

Here, the value of x is :

A. 20 cm

B. 15 cm

C. 5 cm

D. 10 cm

https://dl.doubtnut.com/l/_gSQlvKtRe32L


Answer: A

Watch Video Solution

8. What is the probability of getting exactly one

head, when two coins are tossed simultaneously.

A. 

B. 

C. 

D. 

Answer: A

1

2

3

4

1

4

1

5

https://dl.doubtnut.com/l/_gSQlvKtRe32L
https://dl.doubtnut.com/l/_rUJurYMFepj3


Watch Video Solution

9. Find the number of solutions for the pair of

equations 

A. one

B. two

C. infinite

D. None

Answer: D

h id l i

x + 3y + 5 = 0 and − 3x − 9y + 2 = 0.

https://dl.doubtnut.com/l/_rUJurYMFepj3
https://dl.doubtnut.com/l/_k1p29HFiRsAy


Watch Video Solution

10. What is the smallest number by which 

must be multiplied so it becomes a terminating

decimal ?

A. 6

B. 7

C. 10

D. 5

Answer: B

Watch Video Solution

891

3500

https://dl.doubtnut.com/l/_k1p29HFiRsAy
https://dl.doubtnut.com/l/_XCrBYGWQqbhA


11. Find the side of a square whose diagonal is 10

cm. 

A. 

B. 

C. 

5√2cm

10√2cm

5cm

https://dl.doubtnut.com/l/_XCrBYGWQqbhA
https://dl.doubtnut.com/l/_bFpdxTkVkWaw


D. 

Answer: A

Watch Video Solution

10cm

12. An integer is 1 less than twice that of another.

If their sum is 23 then the smaller integer is :

A. 5

B. 7

C. 11

D. 13

https://dl.doubtnut.com/l/_bFpdxTkVkWaw
https://dl.doubtnut.com/l/_5j2uoYID18zk


Answer: B

Watch Video Solution

13. What will be the number of the zero (s), if the

graph of a quadratic polynomial does not

intersect the x-axis ?

A. zero

B. one

C. two

D. three

https://dl.doubtnut.com/l/_5j2uoYID18zk
https://dl.doubtnut.com/l/_3PFt7EERAhCd


Answer: A

View Text Solution

14. Evaluate the area of a semi-circle whose radius

is 8.4 cm.

A. 

B. 

C. 

D. 

Answer: A

110cm2

55cm2

57cm2

88cm2

https://dl.doubtnut.com/l/_3PFt7EERAhCd
https://dl.doubtnut.com/l/_zTqHilr3QgcT


View Text Solution

15. In , AD is the internal bisector of ,

meeting the side BC at D. If

, then is

A. 

B. 

C. 

D. 

Answer: B

ΔABC ∠A

BD = 5cm, BC = 7.5cm AB : AC

1: 2

2: 1

3: 1

1: 3

https://dl.doubtnut.com/l/_zTqHilr3QgcT
https://dl.doubtnut.com/l/_yHuxLXp481ww


Watch Video Solution

16. Express interms of  where the

sum of areas of two circles with radii 

is equal to the area of the circle of radius 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

R3 R1 and R2,

R1 and R2

R3.

R2
3 + R2

2 = R2
1

R2
3 = R2

1 − R2
2

R2
3 = R2

1 + R2
2

R2
3 + R2

1 = R2
2

https://dl.doubtnut.com/l/_yHuxLXp481ww
https://dl.doubtnut.com/l/_sKpKoE3eq47I


17. Find the value of c in  if

one of the zeroes of p (x) is 0.

A. 

B. 

C. 

D. 0

Answer: A

View Text Solution

p(x) = ax2 + bx + c,

−7

5

−2

https://dl.doubtnut.com/l/_sKpKoE3eq47I
https://dl.doubtnut.com/l/_74Czzf6bdM2t
https://dl.doubtnut.com/l/_m4oP0Jo3B8mP


18. A ladder 10 m log reaches the window of a

house 8 m above the ground. Find the distance of

the foot of the ladder from the base of the wall.

A. 8 m

B. 18 m

C. 6 m

D. 5 m

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_m4oP0Jo3B8mP
https://dl.doubtnut.com/l/_4gJeGMuuOssn


19. What is value of  if  and sec 

 ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

α + β, tanα = 1

β = √2

0∘

30∘

45∘

90∘

https://dl.doubtnut.com/l/_4gJeGMuuOssn


20. What is the value of 'k', if one zero of the

polynomial  is reciprocal of

the other.

A. 4

B. 5

C. 

D. 0

Answer: A

View Text Solution

(k − 1)x2 − 10x + 3

−1

https://dl.doubtnut.com/l/_rUwZJ0FJXhmr


Section C

1. Rajesh want to chose a best plan for his mobile

phone. He has 2 options available with him. The

first plan of company A, cost Rs 20 per month,

with costing an additional 25 paise per minute. 

The second plan of company B charge Rs 40 per

month, but calls cost 8 paise per minute. These

two situations are shown below in the form of

linar equations. 

The total cost of the two company's are given as : 

 


 


y = 0.25x + 20

and y = 0.8x + 40

https://dl.doubtnut.com/l/_J86ER4QNYpaR


Where, x is the minutes used any y is the total

cost per month. 

 


If Rajesh decides to take first plan and calls for 90

minutes in a month, then how much amount he

will have to pay ?

https://dl.doubtnut.com/l/_J86ER4QNYpaR


A. Rs 45

B. Rs 42.50

C. Rs 40

D. Rs 20

Answer: B

Watch Video Solution

2. Rajesh want to chose a best plan for his mobile

phone. He has 2 options available with him. The

first plan of company A, cost Rs 20 per month,

https://dl.doubtnut.com/l/_J86ER4QNYpaR
https://dl.doubtnut.com/l/_ykXKfpuvRAHZ


with costing an additional 25 paise per minute. 

The second plan of company B charge Rs 40 per

month, but calls cost 8 paise per minute. These

two situations are shown below in the form of

linar equations. 

The total cost of the two company's are given as : 

 


 


Where, x is the minutes used any y is the total

cost per month. 

y = 0.25x + 20

and y = 0.8x + 40

https://dl.doubtnut.com/l/_ykXKfpuvRAHZ


 


Rajesh's friend takes second plan and also calls

for 90 minutes in a month. Then how much

amount will he have to pay ?

A. Rs 47

https://dl.doubtnut.com/l/_ykXKfpuvRAHZ


B. Rs 112

C. Rs 45

D. Rs 45. 20

Answer: B

Watch Video Solution

3. Rajesh want to chose a best plan for his mobile

phone. He has 2 options available with him. The

first plan of company A, cost Rs 20 per month,

with costing an additional 25 paise per minute. 

The second plan of company B charge Rs 40 per

https://dl.doubtnut.com/l/_ykXKfpuvRAHZ
https://dl.doubtnut.com/l/_9Qe5acp7bIGd


month, but calls cost 8 paise per minute. These

two situations are shown below in the form of

linar equations. 

The total cost of the two company's are given as : 

 


 


Where, x is the minutes used any y is the total

cost per month. 

y = 0.25x + 20

and y = 0.8x + 40

https://dl.doubtnut.com/l/_9Qe5acp7bIGd


 


What are the values of x and y in the system are

linear equations

A. 

x + 2y = − 1 and 2x − 3y = 12

( − 3, − 2)

https://dl.doubtnut.com/l/_9Qe5acp7bIGd


B. 

C. 

D. 

Answer: D

Watch Video Solution

(3, 2)

( − 3, 2)

(3, − 2)

4. Rajesh want to chose a best plan for his mobile

phone. He has 2 options available with him. The

first plan of company A, cost Rs 20 per month,

with costing an additional 25 paise per minute. 

The second plan of company B charge Rs 40 per

https://dl.doubtnut.com/l/_9Qe5acp7bIGd
https://dl.doubtnut.com/l/_FvY1IbFsVvAE


month, but calls cost 8 paise per minute. These

two situations are shown below in the form of

linar equations. 

The total cost of the two company's are given as : 

 


 


Where, x is the minutes used any y is the total

cost per month. 

y = 0.25x + 20

and y = 0.8x + 40

https://dl.doubtnut.com/l/_FvY1IbFsVvAE


 


If the system of pair of linear equation kx - 2y = 5,

3x + y =1 has a unique solution then the value of k

is :

A. k = 6

https://dl.doubtnut.com/l/_FvY1IbFsVvAE


B. 

C. 

D. 

Answer: B

Watch Video Solution

k ≠ − 6

k ≠
3

2

k ≠
2

3

5. Rajesh want to chose a best plan for his mobile

phone. He has 2 options available with him. The

first plan of company A, cost Rs 20 per month,

with costing an additional 25 paise per minute. 

The second plan of company B charge Rs 40 per

https://dl.doubtnut.com/l/_FvY1IbFsVvAE
https://dl.doubtnut.com/l/_L61XTUYuNaXI


month, but calls cost 8 paise per minute. These

two situations are shown below in the form of

linar equations. 

The total cost of the two company's are given as : 

 


 


Where, x is the minutes used any y is the total

cost per month. 

y = 0.25x + 20

and y = 0.8x + 40

https://dl.doubtnut.com/l/_L61XTUYuNaXI


 


Which type of lines is represented by the system

of linear equations

 ?

A. Coincident lines

x + 2y − 4 = 0, 2x + 4y − 12 = 0

https://dl.doubtnut.com/l/_L61XTUYuNaXI


B. Parallel lines

C. Intersecting lines

D. Can't say

Answer: B

Watch Video Solution

6. Three sports inchange are sitting at positions A,

B are C to monitor the activity of students in the

playground They are conducting the physical

education exam of students. The position of three

instructors are shown on the coordinate axes. In

https://dl.doubtnut.com/l/_L61XTUYuNaXI
https://dl.doubtnut.com/l/_apwFhDcZnVt4


School play ground there sports incharge are

sittign at positions located by the points A, B and

C on coordinate axes as point A, B and C. 

https://dl.doubtnut.com/l/_apwFhDcZnVt4


 

Coordinates of point B are

A. (0,0)

https://dl.doubtnut.com/l/_apwFhDcZnVt4


B. (1,0)

C. (0,1)

D. (1,1)

Answer: C

Watch Video Solution

7. Three sports inchange are sitting at positions A,

B are C to monitor the activity of students in the

playground . They are conducting the physical

education exam of students. The position of three

instructors are shown on the coordinate axes.

https://dl.doubtnut.com/l/_apwFhDcZnVt4
https://dl.doubtnut.com/l/_TvaEnOEqMkfb


In School play ground there sports incharge are

sittign at positions located by the points A, B and

C on coordinate axes as point A, B and C. 

https://dl.doubtnut.com/l/_TvaEnOEqMkfb


 

What are the coordinates of point C ?

A. (3,3)

https://dl.doubtnut.com/l/_TvaEnOEqMkfb


B. (4,3)

C. (3,4)

D. (4,4)

Answer: C

Watch Video Solution

8. Three sports incharge are sitting at positions A,

B and C to monitor the activity of students in the

playground. They are conducting the physical

education exam of students. The position of three

instructors are shown on the coordinate axes. In

https://dl.doubtnut.com/l/_TvaEnOEqMkfb
https://dl.doubtnut.com/l/_eIxFY8bSGj4r


School play ground there sports incharge are

sitting at positions located by the points A, B and

C on coordinate axes as point A, B and C. 

 

Evaluate the distance AB.

https://dl.doubtnut.com/l/_eIxFY8bSGj4r


A. distance OC

B. distance AC

C. distance BC

D. both (a) and (c )

Answer: B

Watch Video Solution

9. Three sports inchange are sitting at positions A,

B are C to monitor the activity of students in the

playground They are conducting the physical

https://dl.doubtnut.com/l/_eIxFY8bSGj4r
https://dl.doubtnut.com/l/_xkqXvhDxxz3L


education exam of students. The position of three

instructors are shown on the coordinate axes. In

School play ground there sports incharge are

sittign at positions located by the points A, B and

C on coordinate axes as point A, B and C. 

https://dl.doubtnut.com/l/_xkqXvhDxxz3L


 

Evaluate the distance BC.

A.  units4√2

https://dl.doubtnut.com/l/_xkqXvhDxxz3L


B.  units

C.  units

D. 

Answer: B

Watch Video Solution

3√2

2√2

2√3

10. Three sports inchange are sitting at positions

A, B are C to monitor the activity of students in

the playground They are conducting the physical

education exam of students. The position of three

instructors are shown on the coordinate axes. In

https://dl.doubtnut.com/l/_xkqXvhDxxz3L
https://dl.doubtnut.com/l/_tRu7LJ7YoXju


School play ground there sports incharge are

sittign at positions located by the points A, B and

C on coordinate axes as point A, B and C. 

 

 isΔABC

https://dl.doubtnut.com/l/_tRu7LJ7YoXju


Section A

A. an equilateral triangle

B. a scalene triangle

C. an isosceles right angled triangle

D. an isosceles triangle

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tRu7LJ7YoXju


1. Find the volue of k, if one of the zeroes of the

polynomial  is

reciprocal of the other.

A. 2,4

B. 3,5

C. 1,3

D. -1,1

Answer: A

Watch Video Solution

f(x) = (k2 + 8)x2 + 13x + 6k

https://dl.doubtnut.com/l/_haqsEtjzpPHL
https://dl.doubtnut.com/l/_Jcviku5kMf0x


2. Find the
 distance between the points


and 

A. 5 units

B.  units

C. 2 units

D.  units

Answer: C

Watch Video Solution

( − ,  2)
8

5
( ,  2)

2

5

7
5

14
5

https://dl.doubtnut.com/l/_Jcviku5kMf0x


3. If the area of a circle is numerically equal to

twice its circumference, then what is the diameter

of the circle?

A. 2 units

B. 4 units

C. 6 units

D. 8 units

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DUSI3Mlcyqar
https://dl.doubtnut.com/l/_QGCXNmUOiOnD


4. Simplify : 

A. rational number

B. irrational number

C. prime number

D. co-prime number

Answer: A

Watch Video Solution

(2√45 + 3√20)

2√5

https://dl.doubtnut.com/l/_QGCXNmUOiOnD


5. If  such that AB=1.2 cm and DE

=1.4 cm, the ratio of the areas of  and

 is :

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

ΔABC~ΔDEF

ΔABC

ΔDEF

49: 36

6: 7

7: 6

36: 49

https://dl.doubtnut.com/l/_K759SnsA8vDB
https://dl.doubtnut.com/l/_cuT6n9nJXDFX


6. Evaluate for what value of c the system of linear

equations  has no

solution.

A. 

B. 0

C. 6

D. 12

Answer: A

Watch Video Solution

cx + 3y = 3, 12x + cy = 6

−6

https://dl.doubtnut.com/l/_cuT6n9nJXDFX


7. What is the value of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

?
sin 45∘

sec30∘ + cosec30∘

(√3 − 1)

√3(√3 − 1)

4√2

4√2

√3(√3 − 1)

https://dl.doubtnut.com/l/_XrnmrqCVoFBk


8. Finding the probability of getting at most one

head (tail) / exactly two head(tail) if two coins are

tossed

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

2

3

4

1

4

1

5

https://dl.doubtnut.com/l/_0JTcNc06NyIW
https://dl.doubtnut.com/l/_p4bfMk0ztZp1


9. What is the probability of not getting a prime

number in a single throw of a die ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

2

1

3

2

3

1

4

https://dl.doubtnut.com/l/_p4bfMk0ztZp1


10. The perimeter of the given figure is : 

A. 35 cm

B. 47 cm

C. 33 cm

D. 11 cm

https://dl.doubtnut.com/l/_lRM9CCqKAhit


Answer: B

Watch Video Solution

11. The ratio in which the point, P(-3,x) divide the

line segment joining the points A(-5,-4) and B(-2,3)

is :

A. 

B. 

C. 

D. 

3: 2

4: 7

2: 1

5: 3

https://dl.doubtnut.com/l/_lRM9CCqKAhit
https://dl.doubtnut.com/l/_bxtdHLiAzZGT


Answer: C

Watch Video Solution

12. Meena went to a bank to
 withdraw Rs 2000.

She asked the cashier to give her Rs 50 and Rs 100

notes
 only. Meena got 25 notes in all. Find how

many notes Rs 50 and Rs 100 she
received.

A. 

B. 

C. 

50x + 100y = 2000, x + y = 25

x + 50y = 100, 100x + y = 2000

x + y = 25, 100x + 50y = 2000

https://dl.doubtnut.com/l/_bxtdHLiAzZGT
https://dl.doubtnut.com/l/_DVhsc0roC91l


D. 

Answer: A

Watch Video Solution

50x + y = 100, x + 100y = 2000

13. Find the value of  if  and  are

the zeroes of polynomial 

A. 

B. 

C. 

D. 

αβ2 + βα2, α β

3x2 + 4x + 2.

3

7

1

9

−
8

9

7
8

https://dl.doubtnut.com/l/_DVhsc0roC91l
https://dl.doubtnut.com/l/_Rdv0sDyFMG07


Answer: C

Watch Video Solution

14. After how many places of decimal, will the

decimal expansion of  terminate ?

A. 1

B. 2

C. 3

D. 4

Answer: C

141
120

https://dl.doubtnut.com/l/_Rdv0sDyFMG07
https://dl.doubtnut.com/l/_yBhjWGUnYgy5


Watch Video Solution

15. Points A(-1, y) and B(5, 7) lie on a circle with

centre O(2, -3y) . Find the values of y.

A. 7,3

B. 

C. 1,7

D. 7,2

Answer: B

Watch Video Solution

−1, 7

https://dl.doubtnut.com/l/_yBhjWGUnYgy5
https://dl.doubtnut.com/l/_2y9fOPipjOZa


16. What are the coordinates of the centroid of

the triangle having vertices as (a,b-c), (b,c-a) and

(c,a-b)?

A. (1,1)

B. 

C. (0,0)

D. 

Answer: B

Watch Video Solution

( , 0)
a + b + c

3

(0, )
b

3

https://dl.doubtnut.com/l/_2y9fOPipjOZa
https://dl.doubtnut.com/l/_QMlXafJ4zzcJ


17. Find the ratio of circumferences of two circles,

whose areas are in the ratio of 16 : 25.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

16: 25

4: 5

5: 4

25: 16

https://dl.doubtnut.com/l/_4A7GnD9WR4hi


18. A quadratic polynomial with zeroes -2 and 3, is

:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x2 − 2x + 6

2x2 + 3x − 6

x2 − 2x + 6

x2 − x − 6

https://dl.doubtnut.com/l/_SbHWPVUEJdJz


19. What are the coordinates of the point, which

divides the join of the points (5,0) and (0,4) in the

ratio 2 : 3 internally ?

A. (8,-3)

B. (6,5)

C. 

D. 

Answer: C

Watch Video Solution

(3, )
8

5

( , 2)
5

2

https://dl.doubtnut.com/l/_hu2rQe98lgGj
https://dl.doubtnut.com/l/_jKmwbYBkaXsT


20. Two given lines represent a pair of

inconsistent linear equations, then both lines

must be :

A. Intersecting at one point

B. coincident

C. parallel

D. intersecting at two points

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jKmwbYBkaXsT


Section B

1. From the given factor tree, the values of x,y, z

respectively are : 

A. 210,7,10

https://dl.doubtnut.com/l/_2XiRPLtAvTeD


B. 210,10,7

C. 105,5,10

D. 105,10,5

Answer: B

Watch Video Solution

2. If 2 and 0 are the zeros of the polynmial

 then find the values

of a and b.

A. 2,0

f(x) = 2x3 − 5x2 + ax + b

https://dl.doubtnut.com/l/_2XiRPLtAvTeD
https://dl.doubtnut.com/l/_cvWw5SfzuOS8


B. 0,2

C. 

D. 5,3

Answer: A

Watch Video Solution

−1, 1

3. Calculate the number of zeroes for the graph of

a polynomial p(x) as shown below: 

https://dl.doubtnut.com/l/_cvWw5SfzuOS8
https://dl.doubtnut.com/l/_MkHMBcwbQ2Vp


A. 0

B. 1

C. 2

D. 3

Answer: B

https://dl.doubtnut.com/l/_MkHMBcwbQ2Vp


Watch Video Solution

4. If a point (x,y) is equidistant from the points

A(9,8) and B(17,8), then the relation between x and

y is :

A. 

B. 

C. 

D. 

Answer: B

h id l i

x + y = 13

x − 13 = 0

y − 13 = 0

x − y = 13

https://dl.doubtnut.com/l/_MkHMBcwbQ2Vp
https://dl.doubtnut.com/l/_NWcgOyoOaRnt


Watch Video Solution

5. Shaurya is making a greeting card for the

father's day. In the card, the shaded part is folded.

What is the area of the region folded in the

greeting card ? 

https://dl.doubtnut.com/l/_NWcgOyoOaRnt
https://dl.doubtnut.com/l/_ei42FjjLb7Qm


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

16(π − 2)cm2

8(π2 − 2)cm2

16πcm2

cm27π

2

6. If (a,b) is the mid - point of the line segment

joining the points A (10,-6), B(k,4) and a-2b =18,

then find the value of k and the distance AB.

https://dl.doubtnut.com/l/_ei42FjjLb7Qm
https://dl.doubtnut.com/l/_GOwx5TwCcw2m


A. 30

B. 22

C. 4

D. 40

Answer: B

Watch Video Solution

7. In the given figure (not to scale), AC is the

median as well as altitude to BD. In , AD

is the median to CE. Which of the following is

△ ACE

https://dl.doubtnut.com/l/_GOwx5TwCcw2m
https://dl.doubtnut.com/l/_tUNWdoJ5w62X


true? 

A. 

B. 

C. 

ΔADE

ΔDAE

ΔDEA

https://dl.doubtnut.com/l/_tUNWdoJ5w62X


D. 

Answer: D

Watch Video Solution

ΔAED

8. If tan (A+B) =1 and tan (A-B)=

 then the value of sin

(3A-7B) is :

A. 

B. 

C. 

, 0∘ < A + B < 90∘ ,
1

√3

√3
2

1
2

1

√2

https://dl.doubtnut.com/l/_tUNWdoJ5w62X
https://dl.doubtnut.com/l/_d9zVBzFxX6ZD


D. 1

Answer: A

Watch Video Solution

9. Tours of the regional capital and the white

house begin at 8.30 am from tour agency. Tours

for the regional capital leave every 15 

min. Tours for the white house leave every 20 min.

After many minutes do the tours leave at the

same time ?

A. 60 min

https://dl.doubtnut.com/l/_d9zVBzFxX6ZD
https://dl.doubtnut.com/l/_cACxpTvpvzUl


B. 50 min

C. 1 hr 5 min

D. 15 min

Answer: A

Watch Video Solution

10. Calculate the value of HCF (8,9,25)  LCM

(8,9,25).

A. 500

B. 1800

×

https://dl.doubtnut.com/l/_cACxpTvpvzUl
https://dl.doubtnut.com/l/_iHD9KVxYIwm2


C. 200

D. 2500

Answer: B

Watch Video Solution

11. Two angles are supplementary to each other.

The larger of two supplementary angles exceeds

the smaller by  . Find the smaller angle.

A. 

B. 

20∘

60∘

80∘

https://dl.doubtnut.com/l/_iHD9KVxYIwm2
https://dl.doubtnut.com/l/_ujQM63Wy63Bb


C. 

D. 

Answer: B

Watch Video Solution

65∘

75∘

12. On rolling two dice at once, what is the

probability of getting a sum of doublet less than

5 ?

A. 

B. 

1

6

2

9

https://dl.doubtnut.com/l/_ujQM63Wy63Bb
https://dl.doubtnut.com/l/_Ztb7gLiOcSat


C. 

D. 

Answer: C

Watch Video Solution

1

18

3

7

13. Prove that the points (3, 0), (6, 4) and (-1, 3) are

the vertices of a right angled isosceles
triangle.

A. collinear

B. right triangle

C. equilateral triangle

https://dl.doubtnut.com/l/_Ztb7gLiOcSat
https://dl.doubtnut.com/l/_CYDLyGliqrim


D. isosceles right angled triangle

Answer: D

Watch Video Solution

14. If  = 256 and  = 4. what are the

values of x and y ?

A. 

B. 

C. 

D. 

4x+y (256)x−y

( , )
1

8
17
18

( , )
13

8

15

8

( , )
17
8

15

8

( , )
13

8

11

8

https://dl.doubtnut.com/l/_CYDLyGliqrim
https://dl.doubtnut.com/l/_pc3SJ5ETwotq


Answer: C

Watch Video Solution

15. Calculate the HCF of  and  provided

that p and q ae prime numbers :

A. pq

B. 

C. 

D. 

Answer: C

p3q2 p2q,

pq2

p2q

p2q2

https://dl.doubtnut.com/l/_pc3SJ5ETwotq
https://dl.doubtnut.com/l/_8hMD0GyeQAas


Watch Video Solution

16. Find the decimal expansion of the rational

number .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

14587
1250

11.6696

12.6182

9.3120

10.717

https://dl.doubtnut.com/l/_8hMD0GyeQAas
https://dl.doubtnut.com/l/_5LnzBmg27rrz


17. The line segment joining the points A(3, -4) and

B(1, 2) is trisected at the points P(p, -2) and

. Find the values of p and q.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Q( , q)
5

3

0,
7

3

.0
7

3

, − 1
8

3

−1,
8

3

https://dl.doubtnut.com/l/_5LnzBmg27rrz
https://dl.doubtnut.com/l/_mGMTHH9QdZra


18. Calculate the number of solutions for the pair

of linear equations y=0 and y=7.

A. 2

B. 3

C. 0

D. 1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ttDyVgBChZQA


19. Rita, Sita, Gita and Shyama are playing a bridge

game. It is a four persons play and a pair of two-

two persons as a partner is mode. 

A deck of 52 playing cards is distributed around

the table clockwise. 

 


https://dl.doubtnut.com/l/_YafpoiS7yaxX


Find the probability that the card drawn is a

queen of black colour.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5

26

1

26

3

26

25

26

https://dl.doubtnut.com/l/_YafpoiS7yaxX


Section C

20. Which of the following is a zero of the

polynomial  ?

A. 2

B. 

C. 

D. 0

Answer: C

Watch Video Solution

x2 + 6x + 9

−1

−3

https://dl.doubtnut.com/l/_18FQMfVyMTb5


1. Case Study : 

Suresh wants to measure the distance of a pond

during the visit to his native. He marks points A

and B 

on the opposite edges of the pond as shown in

the figure below. To find the distance between the

points, he makes a right-angled triangle using

rope connecting B with another point C are at a

distance 

of 12 m, connecting C to point D at a distance of

40 m from point C and the connecting D to the

point A which is at a distance of 30 m from D such

https://dl.doubtnut.com/l/_JaBQFr9gvsct


that  


 


Which property of geometry will be used to find

the distance AC ?

A. Similarity of triangles

B. Thales theorem

C. Pythagoras theorem

D. Area of similar triangles

∠ADC = 90∘

https://dl.doubtnut.com/l/_JaBQFr9gvsct


Answer: C

Watch Video Solution

2. Case Study : 

Suresh wants to measure the distance of a pond

during the visit to his native. He marks points A

and B 

on the opposite edges of the pond as shown in

the figure below. To find the distance between the

points, he makes a right-angled triangle using

rope connecting B with another point C are at a

distance 

https://dl.doubtnut.com/l/_JaBQFr9gvsct
https://dl.doubtnut.com/l/_EtoXcqux4qB9


of 12 m, connecting C to point D at a distance of

40 m from point C and the connecting D to the

point A which is at a distance of 30 m from D such

that  


 


What is the distance AC ?

A. 50 m

B. 12 m

C. 100 m

∠ADC = 90∘

https://dl.doubtnut.com/l/_EtoXcqux4qB9


D. 70 m

Answer: A

Watch Video Solution

3. Which of following does not form a Pythagoras

triplet ?

A. (7,24,25)

B. (15,8,17)

C. (5,12,13)

D. (21,20,28)

https://dl.doubtnut.com/l/_EtoXcqux4qB9
https://dl.doubtnut.com/l/_kTUOsjniePum


Answer: D

Watch Video Solution

4. Case Study : 

Suresh wants to measure the distance of a pond

during the visit to his native. He marks points A

and B 

on the opposite edges of the pond as shown in

the figure below. To find the distance between the

points, he makes a right-angled triangle using

rope connecting B with another point C are at a

distance 

https://dl.doubtnut.com/l/_kTUOsjniePum
https://dl.doubtnut.com/l/_C41RGKEfnIiz


of 12 m, connecting C to point D at a distance of

40 m from point C and the connecting D to the

point A which is at a distance of 30 m from D such

that  


 


Find the length AB.

A. 12 cm

B. 38 m

C. 50 m

∠ADC = 90∘

https://dl.doubtnut.com/l/_C41RGKEfnIiz


D. 100 m

Answer: B

Watch Video Solution

5. Case Study : 

Suresh wants to measure the distance of a pond

during the visit to his native. He marks points A

and B 

on the opposite edges of the pond as shown in

the figure below. To find the distance between the

points, he makes a right-angled triangle using

https://dl.doubtnut.com/l/_C41RGKEfnIiz
https://dl.doubtnut.com/l/_vMAaxNBCxASv


rope connecting B with another point C are at a

distance 

of 12 m, connecting C to point D at a distance of

40 m from point C and the connecting D to the

point A which is at a distance of 30 m from D such

that  


 


Find the length of rope used.

A. 120 m

B. 70 m

∠ADC = 90∘

https://dl.doubtnut.com/l/_vMAaxNBCxASv


C. 82 m

D. 22 m

Answer: C

Watch Video Solution

6. Stationary sound 'S' of frequency 334 Hz and a

stationary observer 'O' are placed near a reflecting

surface moving away from the source with

velocity 2 m/s the apparent frequency of the echo

of S considering velocity of sound equal to 334

m/s is 

https://dl.doubtnut.com/l/_vMAaxNBCxASv
https://dl.doubtnut.com/l/_es6bzqfmWJhB
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A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

12

13

13

12

13

5

5

13

https://dl.doubtnut.com/l/_es6bzqfmWJhB


7. In , right angled at A,  and

 The value of  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

△ ABC AC = 12cm

BC = 15cm tanB

12

9

9

12

15

12

15

9

https://dl.doubtnut.com/l/_BPEOAY6nfHbs


8. In , right angled at C,  and




Then value of  is :

Watch Video Solution

△ ABC AB = 15cm

BC = 9cm

sin2 A + cos2B

9. In , right angled at C,  and




The value of  is :

Watch Video Solution

△ ABC AB = 15cm

BC = 9cm

sin2 A + cos ec2A

https://dl.doubtnut.com/l/_vCU1K7MLFXCu
https://dl.doubtnut.com/l/_4Y0fbTUoYRvl


10. In , right angled at C, 

and 


The value of  is :

Watch Video Solution

△ ABC AB = 15cm

BC = 9cm

cot2 B

https://dl.doubtnut.com/l/_hOPcsHpK5HSg

